EARAROBEEIERT — 2 N— IBISH —F

2019568180 (K) 7EIEIR2H

m;?éfﬁﬁ%’(«{) 55THNLWER] B1 45%— [l w | eEeEl - |5 ) oo e
[A&4£] 1% :380,000" ~ 23%&:87,000”  33&:4500 M  437&:34,000MH  57&:22,000H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4| FIRTUH— H 6 é%_ﬁ;fﬁl 1:(3_1).1 5-3-1-1 [39.8 — | 2 (ﬁg) éggiﬁig (&R)
L:T7RRA Y2y IR B:VT7—Jz AR S
ST 4 | BEEELA 1:32.1 1-1-2-2 | 40.7| -— 1 537 | BAE (£R)
Ry 3| BTY—EY “ 56.0 ®) (o) | FATIE—
L:¥rs/07a4A B:d-IKLyyy LS
BILRE . £ _r_. — BRIt (£R)
3 o | A Lk— L 4 4 5_0 1.(353.9 3-5-5-3 | 41.1 3 (4::3) /?Jﬁ% (
oA hk—L Biby—FL—) [ ziEse]
S dh S B4 | EEER 1:34.6 4-4-4-4 | 42.0| — 4 461 | BiEERZ (2R)
4111 hrh> EZ.O (3) +2) (#%) T. U. K.
L:Nn—RKX> By R7ILTIX K&
> I - # o5 | RFETR 1:38.0 1-1-3-5 |45.9| — 5 495 | ERRRtE (£9R)
5|5|5| YTRINIZX A53.0 (51 %) ) ) Tr—ZREVas
L:TANVNTTFY— B XTI ALY EvJILy RT7—L4
® I—F—@EBIERL
|S=7r= (3,5),2,1,4
20—4— (3,5),4,1,2
30—74— 4,3,5,1,2
43—F— 4,3,2,1,5
[ RN
B 4 290M 794K 3-4 100M B E 3-4 130M &R 2-3-4 130
# B 4 1304 2-4 100M B H 4-3 380 EE 4-3-2 420M
3 110 2-3 110H

ABICOVWTRDTEEERROODE. TR LIV,




